BIDDING SPECIFICATIONS FOR CR 40 SCOP IMPROVEMENTS SECTION 00030-BID

Bid of Pave-Rite, Inc.	(hereinafter called "BIDDER"), organized and existing under the
laws of the State ofFlorida	doing business as <u>a Corporation</u>
To THE LEVY COUNTY BOARD	OF COUNTY COMMISSIONERS (hereinafter called "OWNER").

In compliance with your Advertisement for Bids, BIDDER hereby proposes to perform all WORK for the construction of **CR 40 SCOP IMPROVEMENTS** in strict accordance with the CONTRACT DOCUMENTS, within the time set forth therein, and at the prices stated below.

By submission of this BID, each BIDDER certifies, and in the case of a joint BID each party thereto certifies as to his own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.

BIDDER hereby agrees to commence WORK under this contract on or before a date to be specified in the NOTICE TO PROCEED and to reach substantial completion within <u>150</u> consecutive calendar days and fully complete the PROJECT within <u>180 consecutive calendar days</u> thereafter. BIDDER further agrees to pay as liquidated damages, the sum of <u>\$ 250.00</u> for each consecutive calendar day thereafter as provided in Section 15 of the General Conditions.

BIDDER agrees to pay liquidated damages, as described herein.

BIDDER acknowledges receipt of the following Addendum(s):

Addendum No. 1 on May 19 , 2021 Addendum No. 2 on June 3 , 2021

Filename	Туре	Date Modified	Status
Bid Questions - 6-3-21	Addendum	06/04/2021	Complete
Constructions Plans Revisio	Revision	06/04/2021	Complete
Bid Lump Sum - Revised	Addendum	05/20/2021	Complete
Construction Plans - Revised	Addendum	05/20/2021	Complete
Addendum 5/19/21	Addendum	05/19/2021	Complete
Appendix B - ACOE Permit	Addendum	05/12/2021	Complete
CR 40 SCOP AGREEMENT	Addendum	05/12/2021	Complete
CR 40 CONSTRUCTION PLANS	Addendum	05/12/2021	Complete
ITB_2021_012 CR 40 SCOP I	Bid Document / Specifications	05/06/2021	Complete

BID SCHEDULE

NOTE: BIDS shall include sales tax and all other applicable taxes and fees.

BIDDER agrees to perform all the work described in the CONTRACT DOCUMENTS for the TOTAL LUMP SUM BID AMOUNT \$2,913,445.68 according to the following Bid Schedule:

This is a LUMP SUM BID. It is the Bidders responsibility to carefully review the plans, specifications and to visit the project to determine all necessary materials, equipment, and labor to complete the Work in full, and to reflect this in his LUMP SUM BID.

REMAINDER OF THIS PAGE IS INTENTIONALLY LEFT BLANK

	CR 40	O SCOP IMPROVEMENTS - 6.5 MILES (34,	312 LF)		Cost S	umma	ary
NO.	FDOT PAY ITEM No.	ITEM	QUANTITY UNIT		UNIT PRICE	TOTAL PRICE	
			idway				
1	102-1	MAINTENANCE OF TRAFFIC	1	LS	\$ 122,583.32		122,583.32
2	102-3	COMMERCIAL MATERIAL FOR TEMPORARY DRIVEWAY MAINTENANCE	1625	CY	\$ 23.49	\$	38,171.25
3	104-10-3	SEDIMENT BARRIER (SILT FENCE)	70000	LF	\$ 1.05	\$	73,500.00
4	104-11	FLOATING TURBIDITY BARRIER	1000	LF	\$ 10.67	\$	10,670.00
5	107-2	MOWING AND LITTER REMOVAL	31.5	AC	\$ 377.66		11.896.29
6	110-1-1	CLEARING & GRUBBING	1.32	AC	\$ 16,531.69		21,821.83
7	120-1	REGULAR EXCAVATION	862	CY	\$ 46.29	\$	39,901.98
8	120-6	EMBANKMENT	3972	CY	\$ 43.28	\$	171,908.16
9	160-4	TYPE B STABILIZATION (WIDENING AREAS)	5860	SY	\$ 0.00	\$	0.00
10	285-706	OPTIONAL BASE GROUP 6 (WIDENING AREAS)	5860	SY	\$ 18.89	\$	110,695.40
11	286-1	TURNOUT CONSTRUCTION	4529	SY	\$ 17.09	\$	77,400.61
12	327-70-1	MILLING EXIST ASPH, 1.5" AVG DEPTH	270	SY	\$ 19.99	\$	5,397.30
13	327-70-8	MILLING EXIST ASPH, 2.5" AVG DEPTH	200	SY	\$ 26.99	\$	5,398.00
14	339-1	MISCELLANEOUS ASPHALT PAVEMENT	11	TN	\$ 244.89	\$	2,693.79
15	400-1-2	CONCRETE CLASS I, ENDWALLS (INCLUDES REINFORCING STEEL)	30.26	CY	\$ 1,645.00	\$	49,777.70
16	400-0-11	CONCRETE CLASS NS, GRAVITY WALL	360.7	CY	\$ 1,330.72		479,990.70
17	430-94-1	DESILT PIPE (0-24")	80	LF	\$ 5.88	\$	470.40
18	430-94-2	DESILT PIPE (30" & 36")	160	LF	\$ 5.88	\$	940.80
19	430-94-4	DESILT PIPE (40"x60")	120	LF	\$ 7.05	\$	846.00
20	334-1-12	SUPERPAVE ASPHALTIC CONC., TRAFFIC B (SP-9.5 110 LB/SY)	4200	TN	\$ 110.78	\$	465,276.00
21	334-1-12	SUPERPAVE ASPHALTIC CONC., TRAFFIC B (SP-12.5 165 LB/SY)	6415	TN	\$ 119.16	\$	764,411.40
22	520-2-1	CONCRETE CURB, TYPE A	100	LF	\$ 30.69	\$	3,069.00
23	536-1-1	GUARDRAIL - ROADWAY, GENERAL TL-3	80	LF	\$ 29.38		2,350.40
24	536-8-13	APPROACH TRANSITION CONNECTION TO RIGID BARRIER, F & I, TL-3	4	EA	\$ 4,400.00	\$	17,600.00
25	536-73	GUARDRAIL REMOVAL	140	LF	\$ 2.94	\$	411.60
26	536-85-24	GUARDRAIL END TREATEMENT - PARALLEL APPROACH TERMINAL	8	EA	\$ 4,400.00	\$	35,200.00
27	546-71-1	RAISED RUMBLE STRIP SET - PERMANENT	2	EA	\$ 1,404.13	\$	2,808.26
28	570-1-2	PERFORMANCE TURF, SOD (2'-8" EACH SIDE OF NEW PAVEMENT, HEADWALLS, & OTHER DISTURBED AREAS)	30000	SY	\$ 2.42	\$	72,600.00
	Marie Villa		& Striping				
29	700-1-11	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	61	EA	\$ 254.98	\$	15,553.78
30	700-1-60	SINGLE POST SIGN, REMOVE	61	EA	\$ 19.98	\$	1,218.78
31	700-12-11	SIGN BEACON, F&I GROUND MOUNT- AC POWERED, ONE BEACON	2	AS	\$ 8,888.88	\$	17,777.76
32	705-10-2	OBJECT MARKER, TYPE 2	7	EA	\$ 182.13	\$	1,274.91
33	705-10-3	OBJECT MARKER, TYPE 3	4	EA	\$ 205.63	\$	822.52

		Management of	TC	TAL CO	ISTR	UCTION COST	\$	2.913.445.68
48	101-1	MOBILIZATION (MAX 5% OF BID)	1	LS	\$	144,758.67		144,758.67
47		BONDS (MAX 2% OF BID)	1	LS	\$	27,230.50	_	27,230.50
			CONST neral		V COS	ST SUBTOTAL	 \$	2,741,456.51
46	711-16-231	THERMOPLASTIC, STANDARD- OTHER SURFACES, YELLOW, SKIP, 6"	4.71	GM	\$	1,468.75	\$	6,917.81
45	711-16-201	THERMOPLASTIC, STANDARD- OTHER SURFACES, YELLOW, SOLID, 6"	5.09	GM	\$	4,494.38	\$	22,876.39
44	711-16-101	THERMOPLASTIC, STANDARD- OTHER SURFACES, WHITE, SOLID, 6"	12.26	GM	\$	4,494.38	\$	55,101.10
43	711-11-160	THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	2	EA	\$	540.50	\$	1,081.00
42	711-11-125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24"	75	LF	\$	16.16	\$	1,212.00
41	711-11-123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12"	106	LF	\$	7.93	\$	840.58
40	710-11-231	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"	4.71	GM	\$	440.63	\$	2,075.37
39	710-11-201	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	5.09	GM	\$	1,139.75	\$	5,801.33
38	710-11-160	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL	2	EA	\$	76.38	\$	152.76
37	710-11-125	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 24"	65	LF	\$	1.65	\$	107.25
36	710-11-123	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 12"	106	LF	\$	0.94	\$	99.64
35	710-11-101	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	12.26	GM	\$	1,139.75	\$	13,973.34
34	706-1-1	RAISED PAVEMENT MARKER, TYPE B WITHOUT FINAL SURFACE MARKINGS	1500	EA	\$	4.52	\$	6,780.00

IF DURING THE BID PROCESS, THE CONTRACTOR NOTICES A DISCREPANCY BETWEEN THE WORK REQUIRED AND THIS BID SCHEDULE HE MUST BRING IT TO THE ENGINEER'S ATTENTION BY 5:00 PM (EST) ON WEDNESDAY, JUNE 9, 2021.

NOTE: The unit prices listed above will be used as the basis for computing the value of any change orders either additive or deductive. **THE OWNER RESERVES THE RIGHT TO REJECT ANY OR ALL BIDS.**

Respectfully submitted:	3411 W. Crigger Ct. Lecanto, FL 34461
Signature	Address
Vice President Title	June 9, 2021 Date
CUC1225434 License Number (if applicable)	jeff@paveriteflorida.com Email Address
	352-621-1600 Phone Number

(SEAL - IF BID is by a corporation)

Attest

BID BOND

CONTRACTOR:

(Name, legal status and address)
Pave-Rite, Inc.
3411 W Crigger Ct
Lecanto, FL 34461

SURETY:

(Name, legal status and principal place of business)
Old Republic Surety Company
445 S Moorland Rd, Suite 200
Brookfield, WI 53005

OWNER:

(Name, legal status and address)
Levy County Board of County Commissioners
PO Box 310
Bronson, FL 32621

BOND AMOUNT: Five Percent of Amount Bid (\$5% of Amt. Bid)

PROJECT:

(Name, location or address, and Project number, if any) CR 40 SCOP Improvements; Bid No. 436457-1-54-01

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the surety's consent for an extension beyond sixty (60) days.

If this bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and sealed this 9th day of June, 2021.

Pave Rite (Principal)

Title) PRESIDEN

Old Republic Surety Company

(Surgty)

(Seal)

Mary Martha Langley, Attorney-in-Fact and

Florida Licensed Resident Agent

(Witness)



POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That OLD REPUBLIC SURETY COMPANY, a Wisconsin stock insurance corporation, does make, constitute and appoint:

TANYA L. RUSSO, FREDERIC M. ARCHERD, JR, RICHARD P RUSSO JR, MARY MARTHA LANGLEY

of TAMPA, FL

its true and lawful Attorney(s)-in-Fact, with full power and authority for and on behalf of the company as surety, to execute and deliver and affix the seal of the company thereto (if a seal is required), bonds, undertakings, recognizances or other written obligations in the nature thereof, (other than bail bonds, bank depository bonds, mortgage deficiency bonds, mortgage guaranty bonds, guarantees of installment paper and note guaranty bonds, self-insurance workers compensation bonds guaranteeing payment of benefits, or black lung bonds), as follows:

ALL WRITTEN INSTRUMENTS

and to bind OLD REPUBLIC SURETY COMPANY thereby, and all of the acts of said Attorneys-in-Fact, pursuant to these presents, are ratified and confirmed. This appointment is made under and by authority of the board of directors at a special meeting held on February 18, 1982.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following resolutions adopted by the board of directors of the OLD REPUBLIC SURETY COMPANY on February 18,1982.

RESOLVED that, the president, any vice-president or assistant vice president, in conjunction with the secretary or any assistant secretary, may appoint attorneys-in-fact or agents with authority as defined or limited in the instrument evidencing the appointment in each case, for and on behalf of the company to execute and deliver and affix the seal of the company to bonds, undertakings, recognizances, and suretyship obligations of all kinds; and said officers may remove any such attorney-in-fact or agent and revoke any Power of Attorney previously granted to such person.

RESOLVED FURTHER, that any bond, undertaking, recognizance, or suretyship obligation shall be valid and binding upon the Company

- (i) when signed by the president, any vice president or assistant vice president, and attested and sealed (if a seal be required) by any secretary or assistant secretary; or
- (ii) when signed by the president, any vice president or assistant vice president, secretary or assistant secretary, and countersigned and sealed (if a seal be required) by a duly authorized attorney-in-fact or agent; or
- (iii) when duly executed and sealed (if a seal be required) by one or more attorneys-in-fact or agents pursuant to and within the limits of the authority evidenced by the Power of Attorney issued by the company to such person or persons.

evidenced b	y the Power of Attorr	ey issued by the comp	any to such person or perso	ns.		
certification there	of authorizing the exe	cution and delivery of	officer and the seal of the any bond, undertaking, recound effect as though manually	gnizance, or other	affixed by facsimile to an suretyship obligations of	y Power of Attorney or the company; and such
			PANY has caused these pre er 2020	esents to be signed	d by its proper officer, and	its corporate seal to be
affixed this	3rd day of	INOVEITID	<u> </u>			
			BLIC SURET	O	LD REPUBLIC SURETY	COMPANY
Laun	Ox Halfn	w	SEAL SEAL		Our Mice	
STATE OF WISCONS	IN COUNTY OF WA	IIKESHA - SS	**************************************		President	
			2020 "	V 90	Alam Davil	_
and	Karen J Haffne	·	, <u>2020</u> , personally ca , to me known to be the ir	ime before me, _	Alan Pavii	C CURETY COMPANY
who executed the abo	ve instrument, and the	nev each acknowledge	d the execution of the same	and being by me	ers of the OLD REPUBLIC	denose and say: that
they are the said office	ers of the corporation	aforesaid, and that the	seal affixed to the above in	strument is the sea	al of the corporation, and t	hat said corporate seal
and their signatures as	such officers were d	uly affixed and subscri	bed to the said instrument by	the authority of th	ne board of directors of sai	d corporation.
			OTA ALLO	_Ko	Huzz R. Pel	
OFDTIEIO ATE				My Commis	sion Expires: Septem	ber 28, 2022
CERTIFICATE				(Expiration of not	ary's commission does not i	nvalidate this instrumen
I, the undersigne	ed, assistant secretar	y of the OLD REPUBL	LIC SURETY COMPANY, a	Wisconsin corpor	ation, CERTIFY that the f	oregoing and attached
Attorney, are now in fo	nains in full force ar	id has not been revok	ed; and furthermore, that the	ie Resolutions of	the board of directors set	forth in the Power of
ratemey, are new in te	SUREY CORPORATE CO			Co Th	_	01
92-3545	SEAL \$	Signed and sealed	at the City of Brookfield, WI	this	_ day of	2021

ORSC 22262 (3-06)

BIDDING SPECIFICATIONS FOR CR 40 SCOP IMPROVEMENTS SECTION 00095 – DRUG FREE WORKPLACE

STATEMENT UNDER SECTION 287.087 FLORIDA STATUTES, ON PREFERENCE TO BUSINESSES WITH DRUG-FREE WORKPLACE PROGRAMS

IDENTICAL TIE BIDS: Preference shall be given to businesses with drug-free workplace programs. Whenever two or more Bids which are equal with respect to price, quality and service are received by the OWNER for the procurement of commodities or contractual services, a Bid received by the State or by any political subdivision for the procurement of commodities or contractual services, a Bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the award process.

Established procedures for processing tie Bids will be followed if none of the tied vendors have a drugfree workplace program. In order to have a drug-free workplace program, a business shall:

- Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- Inform employees about the dangers of drug abuse in the workplace, the business' policy of
 maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee
 assistance programs, and the penalties that may be imposed upon employees for drug abuse
 violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under Bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under Bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace not later than five (5) days after such conviction.
- Impose a sanction on or require the satisfactory participation in a drug abuse assistance or rehabilitation program is such is available in the employee's community, by an employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

As the person authorized to sign this statement, I certify that this firm complies fully with the above requirements.

BIDDER SIGNATURE

END OF SECTION

BIDDING SPECIFICATIONS FOR CR 40 SCOP IMPROVEMENTS SECTION 00303 – CONFLICT OF INTEREST DISCLOSURE STATEMENT

The award hereunder is subject to the provisions of Chapter 112, Florida Statutes. All Bidders must disclose with their proposals or bids whether any officer, director, employee or agent is also an officer or an employee of the Board of County Commissioners. All Bidders must disclose whether any officer, partner, director or proprietor is the spouse or child of one of the members of the Board of County Commissioners. All Bidders must disclose the name of any County officer or employee who owns, directly or indirectly, an interest of five percent (5%) or more in the firm or any of its branches or affiliates. All Bidders must also disclose the name of any employee, agent, lobbyist, previous employee of the Board, or other person, who has received or will receive compensation of any kind in connection with the response to the Advertisement for Bid and other Bidding and Contract Documents. All Bidders are also required to include a disclosure statement of any potential conflict of interest that the Bidder may have due to other clients, contracts, or interest associated with the performance of services under the Advertisement for Bid and other Bidding and Contract Documents and any resulting agreement. Use additional sheets if necessary.

Names of Officer, Director, Employee or Agent that is also an Employee of the Board:
Names of Officer, Partner, Director or Proprietor who is spouse or child of Board Member:
Names of County Officer or Employee that owns 5% or more in Proposer's firm:
Names of applicable person(s) who have received compensation:
Description of potential conflict(s) with other clients, contracts or interests:
None of the above applicable: X
Signature: Printed Name: Jeffrey J. Korstick
Bidder Name: Pave-Rite, Inc. Date: 6/9/2021



ADDENDUM CR 40 WIDENING AND RESURFACING PROJECT FROM US HIGHWAY 19 WEST TO BIRD CREEK BOAT RAMP

The following are questions/statements that were received in regard to the bidding of the abovementioned project. The EOR responses are in red. Updated set of plans are available for prospective bidders via DemandStar.

- 1. There are no SCHOOL messages (paint or thermo) in quantities. The "school" message paint quantity is found under Pay Item # 710-11-160. The "school" message thermo quantity was an omission; revised Plan Sheet S2 shows new Pay Item # 711-11-160, which covers this item. The "school" message was labeled on Sheets S26 and S27 as well.
- 2. There are no 12" thermo for crosswalks in quantities. This was an omission: revised Plan Sheet S2 shows new Pay Item # 711-11-123, which covers this item.
- 3. There are no quantities for Thermo Yellow Skip. This was an omission; revised Plan Sheet S2 shows new Pay Item # 711-16-231, which covers this item.
- 4. Quantities for 12" White paint should be LF not GM. Original Pay Item was incorrect. Revised Plan Sheet S2 shows new Pay Item # 710-11-123, which is quantified in LF.
- 5. Can you explain the Pay Item 'Raised pavement marker type B without final surface markings'? This is the quantity of RPM's that will be installed along the centerline of the roadway. Payment for installation will be separate from any temporary or final surface markings.
- 6. Can you explain what the Pay Item 'Thermoplastic, Standard Other Surfaces' are for and where do they go? This is the Pay Item for the final thermoplastic lane lines (6" Solid White/Yellow and 6" Skip Yellow) that are to be applied a minimum of 14 days after placement of final asphalt layers.
- 7. Can we use 6" of limerock in lieu of 12" Stabilized Subgrade for the widening? The widening detail is shown on Sheet 8. The existing subgrade shall be compacted to 95% Modified Proctor Max. Dry Density. The typical sections on Sheets 3-7 have been updated accordingly and Type B Stabilized subgrade has been removed from the bid schedule.

Pare- 2.72, Inc. V.C. 3-949 May, V.C. If you have any questions or need additional information, please contact me at (850) 571-1254 or at wmenadier@dewberry.com.

Sincerely,

DEWBERRY

William A. Menadier, P.E.

Sr. Project Manager



ADDENDUM **CR 40 WIDENING AND RESURFACING PROJECT** FROM US HIGHWAY 19 WEST TO BIRD CREEK BOAT RAMP

The following are questions/statements that were received in regard to the bidding of the abovementioned project. The EOR responses are in red. Updated set of plans are available for prospective bidders via DemandStar.

- 1. The signing plans call for replacing the existing "School Speed Limit 15 When Flashing" assemblies at STA 276+85 RT and 256+02 LT with a new single post assembly. The current signs are AC Powered Flashing Beacon Assemblies. The FDOT pay items in the Bid Schedule does not reflect them being AC Powered. What is the intent with regards to replacing these signs? Do they need to be AC powered flashing signs or regular signs? Both assemblies will be replaced. Pay Item 700-12-11 was added to the plan set and Section 00030 of the Contract Documents was revised. Please submit bids using the attached Bid form.
- 2. Will the weight limits on the bridge be enforced for construction? The weight limit on the bridge is 32 tons. Levy County will not enforce weight limits during construction.
- 3. What is the engineers estimate or budget? The FDOT budget for this project is \$2,250,000.00
- 4. Who will get the millings? Levy County desires to stockpile all millings at their Butler Road Satellite Station. Address: 18771 SE Butler Road, Inglis, FI 34449
- 5. Are there any time restrictions for construction? Page 1 of Section 00030-Bid specifies "BIDDER hereby agrees to commence WORK under this contract on or before a date to be specified in the NOTICE TO PROCEED and to reach substantial completion within 150 consecutive calendar days and fully complete the PROJECT within 180 consecutive calendar days thereafter. The State Funded Grant Agreement expires June 29, 2022. Time is of the essence.
- 6. The revised plans have the stabilized sub-base scratched from the project, yet the Cost Summary sheet still has that item on the form. Will a newly revised form be issued, or do we just place no value on that line item? Revised Section 00030 of the Contract Documents is attached hereto. The Type B Stabilization pay item has been struck through. Please submit bids using the attached Bid form.

If you have any questions or need additional information, please contact me at (850) 571-1254 or at PAVI-RITZ, INC.
By SHAPPHAN, V.P. wmenadier@dewberry.com.

Sincerely,

DEWBERRY

William A. Menadier, P.E. Sr. Project Manager



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 12/17/2020

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

BKS Partners 4211 W. Boy Scout Blvd Ste 800				CONTACT Tanya Russo PHONE (A/C, No, Ext): 813-470-5022 E-MAIL FAX (A/C, No): 813-221-1857							
Tampa FL 33607					ADDRESS: tanya.russo@bks-partners.com						
					INSURER(S) AFFORDING COVERAGE NAIC #						NAIC#
					INSURER A : CNA Insurance Companies						
INSU	RED /e Rite Inc.			PAVER-1	INSURER B : Continental Insurance Company 3528						35289
	11 W Crigger Court				INSURER C : Valley Forge Insurance Co. 20508						20508
	canto FL 34460				INSURE	RD:					
					INSURE	RE:					
INSURER F:											
000000000000000000000000000000000000000				NUMBER: 824608019				REVISION NUM			
IN CI	HIS IS TO CERTIFY THAT THE POLICIES DICATED. NOTWITHSTANDING ANY RE ERTIFICATE MAY BE ISSUED OR MAY KCLUSIONS AND CONDITIONS OF SUCH	QUIR PERTA POLIC	EMEI AIN, CIES.	NT, TERM OR CONDITION THE INSURANCE AFFORDI	OF ANY	CONTRACT	OR OTHER I	DOCUMENT WITH	RESPEC	T TO V	VHICH THIS
INSR LTR	TYPE OF INSURANCE	ADDL	SUBR	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)		LIMITS		
Α	X COMMERCIAL GENERAL LIABILITY			7011759804		1/1/2021	1/1/2022	EACH OCCURRENCE	E	\$ 1,000,	000
	CLAIMS-MADE X OCCUR							DAMAGE TO RENTE PREMISES (Ea occur		\$ 100,00	00
9								MED EXP (Any one p	Carlotte Comment	\$ 10,000)
								PERSONAL & ADV IN	JURY	\$ 1,000,	000
	GEN'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGA	ATE	\$ 2,000,	000
	POLICY X PRO- JECT LOC							PRODUCTS - COMP/	OP AGG	\$ 2,000,	000
	OTHER:									\$	
В	AUTOMOBILE LIABILITY			7011759799		1/1/2021	1/1/2022	COMBINED SINGLE ((Ea accident)	LIMIT	\$ 1,000,	000
	X ANY AUTO				- 1			BODILY INJURY (Per	person)	\$	
	OWNED SCHEDULED AUTOS ONLY					1		BODILY INJURY (Per	accident)	ccident) \$	
	X HIRED X NON-OWNED AUTOS ONLY								PROPERTY DAMAGE (Per accident) \$		
	AUTOU GIVE!							(r or addiadrity		\$	
В	X UMBRELLA LIAB X OCCUR			7011759818		1/1/2021	1/1/2022	EACH OCCURRENCE	F	\$ 5,000,	000
	EXCESS LIAB CLAIMS-MADE						STATE CONTON INCOME.	AGGREGATE		\$ 5,000,	Wilder 1
	DED X RETENTION \$ 10,000									\$	
С	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY			7011958836	1/1/2021	1/1/2022	X PER STATUTE	OTH- ER			
	ANYPROPRIETOR/PARTNER/EXECUTIVE	NI / A						E.L. EACH ACCIDEN	Т	\$500,000	
OFFICER/MEMBEREXCLUDED? (Mandatory in NH)		N/A		A		1		E.L. DISEASE - EA EI	MPLOYEE	EE \$500,000	
	If yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLIC	CY LIMIT	\$ 500,00	00
А	Equipment			7011759804		1/1/2021	1/1/2022	Leased/Rented TIV Scheduled Deductible		285,00 1,153, 10%	
	CRIPTION OF OPERATIONS / LOCATIONS / VEHIC			101, Additional Remarks Schedul	le, may be	attached if more	space is require	ed)			
Lim	ited worksite pollution included: limit \$50	00,00	0								
	•										
CEI	RTIFICATE HOLDER				CANC	ELLATION	30 Days/10 D	ays for Non-paym	nent		
								, , , , , , , , , , , , , , , , , , , ,		-	
For Informational Purposes				SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.							
					AUTHORIZED REPRESENTATIVE						
	• • •				Rilas P. Russo S.						
	v	Key	wat.	Tusso &	7.						



RON DESANTIS GOVERNOR

605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

March 29, 2021

PAVE-RITE, INC. 3411 WEST CRIGGER COURT LECANTO, FLORIDA 34461

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2022. However, the new application is due 4/30/2022.

In accordance with s.337.14 (1) F.S. your next application $\underline{\text{must be}}$ filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwpl.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES:

DRAINAGE, FLEXIBLE PAVING, GRADING, HOT PLANT-MIXED BITUM. COURSES, SIDEWALK, Underground Utilities- Water & Sewer.

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Darlens Anderson, for

Alan Autry, Manager Contracts Administration Office

AA:cg



Halsey Beshears, Secretary



DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION STATE OF FLORIDA

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

MCFALL, WALTER

PAVE-RITE, INC. 3411 W CRIGGER CT LECANTO FL 34461 **LICENSE NUMBER: CUC1225434**

EXPIRATION DATE: AUGUST 31, 2022

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.